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Multiplication with Multiples of Ten Name:
Solve each problem. Answers
1 99 2) 68 3) 76
x 80 60 x 80 -
2,
3,
4) 38 o) 69 6) 11 a
x 50 80 x 70
5,
6.
7.
7) 66 8) 83 9 65
X 40 20 X 80 8.
9,
10.
10 76 11) 89 12) 40 "
x 10 20 X 30 |
12.
13.
13) 16 14) 48 15) 20 14.
X 80 60 X 90
15.
16.
17.
16) 11 17) 31 18) 64
x 90 80 X 80 18.
1-10 |94 ]89|83| 78| 72| 67| 61|56 |50 |44 |
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Multiplication with Multiples of Ten Name:. Answer Key
Solve each problem. Answers
1) 2) 3)
99 68 76 . 7.920
X 80 X 60 X 80
0 0 0 > 4.080
+ 7,920 + 4,080 + 6,080
7.920 4.080 6,080 3 _ 6,080
4) 38 5) 69 6) 11 " 1,900
X 50 X 80 x 70
5 5,520
0 0 0
+1,900 +5,520 +770 . 770
1,900 5,520 770
7 2,640
7) 66 8) 83 9 65
x 40 x 20 x 80 8. 1,660
0 0 0
+ 2,640 + 1,660 +5,200 o 9,200
2,640 1,660 5,200 o 760
10 11 12
) 76 ) 89 ) 40 n 1,780
x 10 X 20 X 30
760 0 0 12, 1,200
+ 1,780 + 1,200
1,780 1,200 13 1,280
13) 16 14) 48 15) 20 1. 2,880
*x 80 x 60 x 90 s 1,800
0 0 0
+ 1,280 + 2,880 + 1,800 16. 990
1,280 2,880 1,800
17 2,480
16) 11 17) 31 18) 64
x 90 x 80 x 80 18, 9,120
0 0 0
+ 990 + 2,480 +5,120
990 2,480 5,120
1-10 |94 ]89|83| 78| 72| 67| 61|56 |50 |44 |
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